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B E IR EFEIE ] FEAERS-PURETRFF I3 2N 1 F T RHEL &
+ 2 gl v o o N =1 B S N e +
= 1 )é» /E'J——é:' T Vi rrw:" ’P&i /E‘J“:‘—; B R %:_rz\'
EEE S AP R IRA Y ERINLR 5ER ) R X3
i
< 957 B 113.01.12~18 |113.02.08~19{113.03.08~09 [ 113.01.12~18 | 113.02.08~19 | 113.03.08~09 | 113.01.12~18 | 113.02.08~19 | 113.03.08~09 | 113.01.12~18 | 113.02.08~19 | 113.03.08~09 ; f;
£ L
TSP B
. 24 ) pFiE 63 55 128 93 111 129 94 84 137 123 54 141 -
(pg/m’)
PM 1o VI
? pTiaE 40 36 98 76 66 97 64 59 95 91 39 105 100
(ng/m’)
PM
2 24 | pEiE 19 — — 27 — — 30 — — 35 — — 35
(ng/m’)
S0, Bt T 0.009 0.007 0.004 0.012 0.022 0.005 0.017 0.03 0.008 0.006 0.015 0.013 0.075
(ppm) [ESEI 0.004 0.003 0.002 0.004 0.005 0.002 0.006 0.007 0.003 0.003 0.003 0.004 -
NO, B4 ETE 0.041 0.035 0.046 0.039 0.042 0.049 0.046 0.034 0.044 0.039 0.018 0.04 0.1
(ppm) FEZE 0.017 0.018 0.022 0.02 0.022 0.029 0.02 0.023 0.021 0.026 0.005 0.023 -
NO Bt T E 0.003 0.018 0.011 0.01 0.027 0.034 0.007 0.023 0.024 0.047 0.024 0.022 -
(ppm) pTiE 0.002 0.004 0.003 0.002 0.005 0.006 0.002 0.007 0.005 0.007 0.003 0.004 -
co B4 TG 0.6 0.6 0.7 0.6 0.7 11 2.5 2.2 1.6 0.7 0.8 1.4 35
(ppm) Bk 8 | ETE 0.5 0.5 0.6 0.3 0.4 0.9 0.9 1.5 0.7 05 0.4 0.6 9
0, Bt TR 0.083 0.068 0.071 0.083 0.058 0.061 0.075 0.059 0.07 0.081 0.067 0.061 0.12
(ppm) B4 8 [ ETaE 0.067 0.056 0.061 0.073 0.047 0.052 0.067 0.045 0.056 0.061 0.046 0.055 0.06
Tp“ﬂan)C pTiaE 0.42 0.21 0.34 0.35 0.28 0.56 0.23 0.17 0.32 0.51 0.09 0.41 -
& (ng/m?3) 24 ) pE B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
A (ug/m3) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
A (ug/md) 24 | pFiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
4 (ug/m?) 24 | P <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
£ (ug/md) 24 ) pE B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
2 (ug/md) 24 | pFiE 6.24 5.18 6.98 9.71 74 5.8 6.73 5.83 -
BAF R > i s [ [ [ & — — & — — R — —
b i (M) peESE 15 11 13 0.9
i (m/s) & 24 | pEE ' - - : - - : - - : - - -
2R (C) pIE 19.4 — — 19.4 — — 19.4 — — 19.4 — — -
wEHRE (%) pTiaE 76 — — 76 — — 76 — — 76 — — -
AR g/m¥ » 7.4 7.2 75 7.4 7.5 7.3 7.1 7.2 -
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AFABORTT R TN 113 # 17 3 pRE > TRl 25 BHM
AFEEFMARTAA) FR 2 SERXFHRAAB)E ARFERE S
C)% 3 TRFR & 5 kR \pH~DO~BOD5\COD\SS~ BRI
PR AT B RE R F RIS T R AR S
s Al T R s R - ) AR g;,pﬂ';y;;@ NPEILERNE AR
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AP BEP NI D T AR -DBRBETARI NI ET 1T RERS #£2
206 LplakA B TR RS REL

z K
S &E
P

7R MDL A A Ax B. B B C: C. Cxr
) 9% i

(% i)

1

pH — 8.2 8.2 8.2 8.1 8.1 8.2 8.2 8.2 8.2
kB (°C) — 23.8 23.3 229 25 24.7 245 249 24.6 24.2 —
%% £(mg/lL)| — 6.9 6.8 6.6 6.6 6.5 6.4 6.6 6.5 6.4 >5.0

,V‘::, =] B
e H 1.0 8.4 8.2 7.2 8.0 8.8 9.4 10.2 11.4 9.5 —

(mg/L)

7 & (psu) — 33.3 334 334 33.2 33.2 33.3 33.3 33.3 334 —
& /s:(m) — 1.3 — — 1.2 — — 1.8 — — —
2} g
2URIE N 0| <0 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <30

(mg/L)
T35 3
= 15 3.0 3.3 3.6 3.2 3.0 3.3 3.6 3.4 3.1 —
(mg/L)
s p(mg/L) | 0.002 0.027 0.032 0.044 0.037 0.056 0.040 0.025 0.026 0.061 —

“.% (mg/L) | 0.10 0.60 0.87 0.77 0.72 2.99 0.53 0.82 0.53 0.64 —
% % (mg/L) | 0.03 0.06 0.06 0.08 0.07 0.05 0.04 0.06 0.07 0.05 —

s
BTN 0.09 0.58 0.85 0.75 0.69 2.95 0.47 0.80 0.51 0.62 —

(mg/L)

A ps ®(mg/L)| 0.07 0.10 0.10 0.10 0.14 0.17 0.22 0.07 0.08 0.06 —
%ﬁgﬁi;ﬁ 0.008 | 0.003 N.D. N.D. 0.005 0.004 0.006 0.003 N.D. 0.006 —
@ 5 (mg/L) | <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <2
4,F=(mg/L) | 0.0024 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | N.D. 0.005
o _

(CFU/100mL) <10 25 50 45 65 20 75 20 40 65

F(mg/L) |0.00030| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. —

4§ (mg/L) |0.00001|<0.00100{<0.00100{<0.00100|<0.00100(<0.00100|<0.00100|<0.00100|<0.00100{<0.00100{ —

£ (mg/L) ]0.00500| <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05

A& (mg/L) |0.00015| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.001

4% (mg/L) 0.00001| 0.00013 | 0.00014 | 0.00012 | 0.00014 | 0.00016 | 0.00016 | 0.00011 | 0.00013 | 0.00008 | 0.03

44.(mg/L) ]0.00001| 0.00015 | 0.00017 | 0.00016 | 0.00016 | 0.00017 | 0.00017 | 0.00015 | 0.00015 | 0.00013 | 0.1

£-(mg/L) |0.00001| 0.00007 | 0.00006 | 0.00006 | 0.00003 | 0.00005 | 0.00004 | 0.00005 | 0.00011 | 0.00003 | 0.01

#:(mg/L) |0.00001| 0.00146 | 0.00114 | 0.00071 | 0.00119 | 0.00169 | 0.00164 | 0.00055 | 0.00255 | 0.00039 | 0.5

L& 0.00005| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
(mg/L)
25 A 0.00004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
(mg/L)

0 1+ 1900005 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01

i (mg/L)

T = 0.00004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
(mg/L)
2 S in
E?ngl;li) 0.00025{<0.00025|<0.00025{<0.00025|<0.00025|<0.00025{<0.00025|<0.00025|<0.00025(<0.00025| 0.1
- it 0.00005| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
(mg/L)

G AAPE 113 &1 % 3P o
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A f& @ (mg/L) 8.95 — —
7 7 s % (mg/L) 0.31 — —

< R A EE

(CFé/*fOPOﬂrr:L) <10 — —
7 P5(mg/L) <1.0 10 —
a8 (md¥s) 1.3 — —
# (mg/L) <0.0020(0.00047) 0.5 —
4% (mg/L) N.D. 0.03 —
44(mg/L) N.D. 2.0 —
& (mg/L) N.D. 0.005 —
4% (mg/L) N.D. 3.0 —
45 (mg/L) N.D. 1.0 —
&-(mg/L) N.D. 1.0 —
#:(mg/L) 0.011 5.0 —
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